6. MepKyI 1O

Allegro gincoso J=is2-1s0

pizz. areo ) estey 3 1 1 !
A . ""'"_""'--Hh-. ﬁl
- 3 r : [ ol ¥
- £ . " ® 0= @ x -

14/ 16



!

=
r3

—
L ]

pizz

}.‘ arto T

%Iﬂ

nEaln 45
= T

L*{
%

S

— |
Moderatoscherzando

sul ponticello
-I-,.-'".-.-____---"'

7

i LLS

o

=4

'rr_'

2 2

| |-

Y

=

PP tranguilio

S |

. &

—%

gul pontiecello

|-|f_,..--""‘_._'_._

iri

PP

Fi

M.

sul ponticello

—

_._._,_;—'—"
- .

-

L "J-I

o bbp |

S22
D

£24s

b

il

Ku'y

15/ 16




) ; g X :g _g . meno mosso
0 ._#, » £ » fr F, 3
: ——
= SigEriemr=s =5
® ' _P P s ¥
Jf = = ==
-, g ; . S
Egil :L 'i;igé ’& 2 — jtj i% pizz. - }} 3
, e Ay ey )
ey = = — e
. = 2

16/ 16




	prkrj_p14
	prkrj_p15
	prkrj_p16

